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1.4   
 
 
 
 
 
 
 
 
 
 E(X) = ∑ X.P(x) 
          = 3500 
 tpil (2) 
 

1.5 A    }  P ^1 + r &n    p = 4 000 000 r = 0.08 n = 4 
        = 4 000 000X 1.08 4 
        =5 441 955.84 
 tl;b   = 5 441 955.84 - 4 000 000 
          = 1 441 955.84 
 
  I = Prt    p = 4 000 000 r = 0.08 t = 4 
     = 4 000 000 X 0.08 X 4 
    = 1 280 000 
 ,uz;L tl;bfSf;F ,ilapyhd NtWghLfs;  =161 955.84 
 
 tpil (3) 
 
1.6 tpil (1) 
 
1.7 a = 2 
 a + 3d = 20 
 2 + 3d = 18 
       3d = 18  
         d = 6   
 

tpil (3) 

ijj;j Milfspd; 

vz;zpf;if (myFfs;) x 
epfo;jfT        

P(x) X. P(x) 

2500 0.30 750 

3500 0.45 1575 

4500 0.20 900 

5500 0.05 275 

E(X) 3500 
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 tpil (3) 
 
1.6 tpil (1) 
 
1.7 a = 2 
 a + 3d = 20 
 2 + 3d = 18 
       3d = 18  
         d = 6   
 

tpil (3) 

ijj;j Milfspd; 

vz;zpf;if (myFfs;) x 
epfo;jfT        

P(x) X. P(x) 

2500 0.30 750 

3500 0.45 1575 

4500 0.20 900 

5500 0.05 275 

E(X) 3500 

1.8 BEP =  61 000 
  (69- 29) 
          = 1525   tpil (3)  
 
1.9 Y  = T × S Y = 1800 S = 75% 
 1 800  = T × 0.75 
 T   = 2 400  tpil (2) 

 
1.10 S = - 40%   tpil (1) 

 
1.11 khjj;jpw;fhd nkhj;j tUkhdk;  = &gh 240 000  × 125 
                           25 
      = &gh 1 200 000 
 mynfhd;wpw;fhd tpw;gid tpiy =&gh 1 200 000 
                        200 
      =&gh 6 000 
 

1.12 
o

nP  = 100
200
300

  

  = 150 
 

1.13 1.  Rl;nlz;fs; ngHJthf Neuk; NjhWk; khw;wq;fis fhl;LfpwJ. 

 2.  Rl;nlz;iz fzpg;gjw;F gy Kiwfs; gad;gLj;jg;gLfpwJ kw;Wk; 
ntt;NtWgl;l Kiwfs; NtWgl;l gjpy;fisj; jUfpd;wJ. 

 3.  vilapL fhuzq;fs; fhyhtjpahf KbAk;. 

 4.  Rl;nlz; MdJ rPUil mzpahjtu;fspdhy; jtwhf;f KbAk;. 

 

1.14 %404.0
25
10

  

 

1.15 %505.0
20
10

  

 



02.  

(a)  i. nkhj;jr; nryT rhu;G  = khWk; fpuak;  + epiyahd fpuak;  

     = 8,000 x + 1,000 x2  + 900,000 

nkhj;j tUkhdr; rhu;G  = Nfs;tpr; rhu;G x    x  

    = (120,000 – 1,000 x ) x x 

    = 120,000 x  - 1,000 x2 

ii. Kiw 1 

,yhgr; rhu;G (P) = tUkhdk;  +   fpuak; 

    = (120,000 x  - 1,000 x2) – (8,000 x + 1,000 x2  + 900,000) 

= 112,000 x  - 2,000 x2  - 900,000 

dp / dx  = 112,000 – 4,000 x  - 0 = 0 

=>  4,000 x  

=   112,000 

= 28 

(d2p / dx2) = 0 – 4,000 < 0 

/mjp$ba myFfspd; vz;zpf;if = x = 28 

 

Kiw 11 

,Wjpepiyr; nryT (MC)  = (dc / dx) 

      = 8,000 + 2,000x 

,Wjpepiy tUkhdk; (MR)  = (dR / dx) 

      = 120,000 – 2,000x 

mjp$ba ,yhg Gs;spapy; MC =  MR 

8,000 + 2,000x =  120,000 – 2,000x 

    4,000x  =  112,000 

x  =  28 myFfs; 



Kiw 111 

At the break even point, TC  = TR 

8,000x + 1,000 x2 + 900,000  = 120,000 x – 1,000 x2 

2,000 x2 – 112,000 x +900,000 = 0 

x2 - 56x + 450    = 0 

x   = 56 ±  (56 x 56) – 4 x 1 x 450  

             2 

x   = 56 ±  3,136  – 1,800  

        2 

x   = 56 ±  1,336  

              2 

x   = (56 ±36.5) / 2 

x   = (56 ±36.5) / 2 my;yJ (56 – 36.5)/2  

   x   = 46.25  my;yJ    x= 9.75 

mjp$ba ,yhg Gs;spapy   = (46.25 + 9.75) / 2 

   x   = 28 myFfs;  

    (06 Gs;spfs;) 

(b)  

Kiw 1   A = SRn (R – 1)   R = 1 + r% 

        (Rn – 1) 

     = 150,000 x (1.06)5 (1.06-1)  

       (1.065 – 1) 

= 35,610 (mz;zthf) 



Kiw 11 

tUlk; fld; thq;fpa 
njhif 

nrYj;jpa 
njhif 

D.C.F PV 

fld; kPs; nfhLg;gdT 

0 150,000 - 1,000 150,000  

1  A    

2  A    

3  A 4.212A - 4.212A 

4  A    

5  A    

    150,000 4.212A 

 

4.212A  = 150,000 
A  = 35,612 (mz;zthf) 

 

Kiw 111    

A = 150,000 / 4.212 

 = 35,612 

(04 Gs;spfs;) 

(nkhj;jk; 10 Gs;spfs;) 



(a)  ,yh];ngahupd; tpiyr; Rl;nlz; ( 01LP ) = 100
)qP(
)qP(

00

01 




  

       = 100
1865000
2060000

  

       = 110.45 
 
 

P1  q0 P0  q0 

1150  1100 = 1265000 850  1100= 935000 

610  500     = 305000 600  500 = 300000 

350  1400   = 490000 450  1400 = 630000 

2060000 1865000 

(04 Gs;spfs;) 

(b)  
khjk; kpd; cw;gj;jp (myFfs;) 

rdtup 750 000 X 20%     = 150 000 
ngg;utup 150 000 + 13 500 = 163 500 
khu;r; 163 500 - 15 000 = 148 500 
Vg;uy;                                   135 500 
Nk                                    90 000 
A+d;                                    63 000 

 
                                   750 000 

 
                             
 myFfspd; 

vz;zpf;if 
% ghiffs; 

rdtupf;fhd 150,000.00 20.00 72 o 
ngg;utupf;fhd 163,500.00 21.80 78.48 o 

khu;r;Rf;fhd 148,500.00 19.80 71.28 o 
Vg;uYf;fhd 135,000.00 18.00 64.8 o 
Nkapw;fhd 90,000.00 12.00 43.2 o 
A++dpw;fhd 63,000.00 8.40 30.24 o 
 750,000.00 100.00 360 o 
 

(06 Gs;spfs;) 

(nkhj;jk; 10 Gs;spfs;) 



(a)      Kiw 1 

 (i)  Mean        =  ∑ fX 
                       ∑ f 
            =  410 
                    100 
            =  4.1 

(ii) 
 

 epak tpyfy;  =       ∑ fX2   -     ∑ fX  2 

                       ∑  f             ∑  f 
   

 epak tpyfy;  =      2230       -        410   2 

                  100                 100 
 

     =    5.49    

 =   2.34 

04 Gs;spfs; 

(b) Kiw 11                                    A = 5 

cauk; X f d fx X2 

1-3 2 50 -3 -150 450 

4-6 5 30 0 0 0 

7-9 8 20 3 60 180 

  100  -90 630 

 

(i) Mean   =  A +         Ʃ fd    
             Ʃ f 
    =   5 +        -90    
                100 
    =   4.1 

 

epak tpyfy;   =            Ʃ fd2  -     Ʃ fd     2 
      Ʃ f           Ʃ f 
 

 epak tpyfy;  =            630   -       -90    2 
      100          100 

    =            2.34  

 





M1 
 

tUlq;fs; 

fhRg;gha;r;ry; 

js;Sgb 

,w;iwg; 
ngWkjp 

(&gh. ‘ 000) 

,w;iwg; ngWkjp 

(&gh. ‘ 000) (&gh. ‘ 000) 

0 
1 
2 
3 
4 

-60 
20 
20 
20 
26 

1/1.090  my;yJ 
1/1.091  my;yJ 
1/1.092  my;yJ 
1/1.093  my;yJ 
1/1.094  my;yJ 

1 
0.9174 
0.8417 
0.7722 
0.7084 

-60 
18.3486 
16.8336 
15.4437 
18.4191 

-60 
18.348 
16.834 
15.444 

18.4184 

 9.0450 9.0444 

 
 

epfu ,w;iwg; ngWkjp = & 9.0450 my;yJ 9.0444 
 
 

M2 
 

tUlq;fs; 

fhRg;gha;r;ry; 

js;Sgb 

,w;iwg; 
ngWkjp 

(&gh. ‘ 000) 

,w;iwg; ngWkjp 

(&gh. ‘ 000) (&gh. ‘ 000) 

0 
1 
2 
3 
4 

-50 
15 
15 
10 
15 

1/1.090  my;yJ 
1/1.091  my;yJ 
1/1.092  my;yJ 
1/1.093  my;yJ 
1/1.094  my;yJ 

1 
0.9174 
0.8417 
0.7722 
0.7084 

-50 
13.7615 
12.6252 
7.7218 

10.6264 

-50 
13.761 

12.6255 
7.722 

10.626 

 (5.2651) -5.2655 

 
 

epfu ,w;iwg; ngWkjp = & (5.2651) my;yJ (5.2655) 
 
 

(b) ,ae;jpuk; M1 ,dhy; cau; Neu;kiw epfu ,w;iwg; ngWkjp nfhLf;fpwJ. vdNt 

,ae;jpuk; M1 thq;fNtz;Lk;. 

(10 Gs;spfs;) 



(A)  
(a)      my;yJ 

 
 
 
 
 
 
 
 
 
 
 
 

 
 

68% my;yJ 68.26% 
 

(2 Gs;spfs;) 
(b) X : guPl;irg; Gs;spfs; 

µ = 76µ σ = 15 
 

Z =  X - μ  
   σ  

Z =  X - 76  
        15 
 
 

1.04 =  X - 76  
        15  

 

X =  91.6 
 
X =  92 
 
kpff;Fiwe;j Gs;spfs; 92  

  (5 Gs;spfs;) 



(b)   B   = nΣXY - ΣX ΣY  

nΣX2 – (ΣX)2 

   = 5 x 26660 – 367 x 361 

          5 x 27859 – (367)2 

= 0.1765 
 

a  =  Y  - b X 

a  = 361 – 0.1765 x 367 

     5   5 

a = 59.24 

 

 

gpw;nryTf; NfhL Y = a + bx 

     Y = 59.24 + 0.1765x 

  (6 Gs;spfs;) 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 



(b) X ,w;Fk; Y ,w;Fk; ,ilapy; rhj;jpakhd Neupay; ,izg;igf; nfhz;Ls;sJ. 

 

(c)      
r =             nƩxy – (Ʃx) (Ʃy) 
  

    [nƩx2 -(Ʃx) 2] [nƩy2  -  (Ʃy) 2] 
   

 =           8 x 1373 – 66 x 138 
 
      (8 x 654 - 662) (8 x 2930 - 1382) 
  
r =            0.9560 
 

(07 Gs;spfs;) 

(nkhj;jk; 20 Gs;spfs;) 




